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SRR A AT I O— A
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AiEH - B - BiE £ URFERFE] giiE#H - B - miE £ [RAER %
HiEE - C - e Ex [E¥rP%] BiEHE - C - e EBE [EEF
HiEHE - D - Blao%E UBAEIRT2E] giiE# - D - Sl A= (BIERH
HiIER - F - Fars Al (BIERFZ] giE - E - FalEn  fmt (BAERH
HiEE - F - i RE (liEHRE] gigdE - F - it S WG eE =
AEE -G - NN BAEIRFZ] giEH - 6 - AR R A [RAER %
AiE#HR - H - HEE HIK [(ERP ] gies - H - FiE BRIk (iR 2
RS 22(21) 2 & — bR 9:40 W 22(21) R & — LB 11:05
FRS i E=t 77 b Rz <HD £~ e )
A= /"T 4= a kiR 0°C / I°C RE—N/"T 4= TR 0°G: ¢ B°C
F=880
IRz Ap=p =N BiEE 14 H 2&H A EF L—2
No No K4 BIER ®r B 4 B M OB R OB R ORA b
1 1 KE B BACRNFER 4 46.22 4435 1:30.57 0.00
2 7 i mER BT/ 3 4782 4777 1:3559  48.78
3 8 HE &5 s =2 2 52.50 50.17 1:42.67 117.57
4 13 YN ZS BACR/NFERE 1 5440 4989 14429 133.31
5 10 FiE Ek BTN 2 53.51 5213 1:4564 146.42
6 5 g =5 EIRNERE 3 5322 5471 1:.47.93 168.67
7 2 HiE RF BT/ 4 53.84 5515 1:48.99 178.97
8 11 AP HRE BACIR/INERE 9 5720 56.77 1:53.97 227.36
9 6 JNERE 3 A eI iy 3  1:01.99 1:.00.20 2:02.19 307.23
10 14 fkH EE s 1 1:19.31 1:17.86 2:37.17 647.10
11 15 BEH B N 1 1:21.75 12160 24335 707.15
DID NOT START [1st RUN] 1
3 ik A3 RN 3
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DATA PROCESSING by SEI KO TIMING by SEI KO
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DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH (2nd RUN] 0
DISQUALIFIED [2nd RUN] 3
4 Tt BE BT /INER 3 GATE No. 1
9 =\ EE BACIR /N g GATE No. 20
12 o = o= 2 GATE No. 15

BEiffiE 'R B ;Z %(‘ ';%

02-02-2014 / G8/ 2

DATA PROCESSING by SETKO TIMING by SETKO



%2 6 MRERM/INERA T —KE

RACRTESER A ¥ —5

4 FLIT B F KB BE KEE
Tal— FImHNTF—H
i AE a— R4
TEEBFE AR —3  Az-R
E5% £ HfE— A — N 350m
T 4=y a s 240m
BHEER it o R EemE 110m
a— 2 %R UNLE 2Rk 700m
A H— | 1 % & R RFHE 20%
A B — N 2 FLAR A /B 10%
7 4=y B [k, a8 ) RHE 13%
148 274 R
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AiEH - E - FIER At [RALRFE] BiEHE - E - (I s ] [RAER 2]
HIEH - F - WwH L RE] fiEd - F - w R (I iR ]
AIE# - G - eI [RAERTY] s - 6 - AR K [RAGR 2]
AIEHE - H - ik Bk [(FM 5] giEHE - H - ik Bk [ %]
HEFS % 22(21) A& — b B 9:40 TR %k 22(21) R B — R 11:05
FAE Eh =Y Wk FAg <Ho =Yg V7 h
AE—= /T 4=y aRiR 0°C / 1°C AR —hST =2 KB g ¥ 8¢
F=880
NEGZ 24—} - EEE 1A 2%&H & #H 1—2
No No K4 BiIER B B 4% L S g
117 %iE  Fug BTN 4 4258 4098 1:23.56 0.00
2 19 FiE RE B/ N 3 42.31 4232 12463  11.27
3 16 FE EA Bt W= 4 4498 4550 1:3048  72.88
4 21 L KB BT /N 2 4729  46.00 1:33.29 102.47
5 22 =iE ER/NER 2 4948 4890 1:38.38 156.07
6 18 B i ot/ W=7 4 53.11 5436 1:47.47 251.80
720 B Bk AR 3 5432 5390 14822 259.70
8 26 FRER KM N 1 54.94 54.73 1:4967 27497
9 23 F o} Bat: ] N= A 2 5476 1:00.54 1:55.30 334.27
10 28 ME M BN 1 1:01.86 57.09 1:58.95 372.70
11 24 HBH ER lt; R 2  1:.0210 1:.03.56 2:05.66 443.37
12 27 KR Hifk BT /2R 1 10496 1.06.81 2:11.77 507.72
DID NOT START [1st RUN] 0
02-02-2014 / G8/ 1
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No No K4 BER B B 4 BF M OB B OBF R RSB
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 2
25 MR RX AN 2 GATE No. 1
29 R RER BACIR NS 1 GATE No. 10

itk FE B
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DATA PROCESSING by SEI KO TIMING by SE I KO
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AiEHE - C - e BE [(ERF o] aiEs - C - MMy EE gkl
HIE®H - D - B D% [(BIERF =] piiks - D - B o%E [RAER ]
RIZEH - E - FArEr Al [BIEIRF%] fligE - E - Rl Al U%?@WP%]
HiZE®E - F - Va2 OUFEFRE] piEs - F - W R [Mﬁ&ﬁﬂ%@]
AIEH - G - LUNGIE N LEBFERPE] giEd - 6 - /NN [E?Mfﬁ*]
AIEE - H - FiE Bk [(EM ] gliedE - H - {FiEE  ERIK [EB PR
TR 22(21) A A — R 9:40 HEFE K 22(21) 2 A — B 11:05
R Bl E g g FKig <Hh EH 4 7OI~
A=~k /7 tevieafB 0C / 1T AE— b /T4 =2k 0°C / 2°C
T F=880
NERL Ap—p - i 14H 2KEB & § V-2
No No K4 BIR B 4 I I~ 1 i G
1 30 ik FEiE BTN 5 41.76 4130 1:23.06 0.00
2 31 /R FEHEE BTN 5 41.46 4228 1:23.74 7.20
3 32 | FE g 5 4265 4244 1:2509  21.51
4 33 FEE B BF/NER 5 4420 4509 1.29.29  66.01
DID NOT START [1st RUN]
DID NOT FINISH [1st RUN]
DISQUALIFIED [1st RUN]
DID NOT START [2nd RUN]
DID NOT FINISH [2nd RUN]
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DATA PROCESSING by SEI KO

TIMING by SETKO
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DISQUALIFIED [2nd RUN] 0
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HiZEH - E - i Aedl [BIERF =] giEHR - B - PrEf AL L%T@v)i'ﬂlﬁi]
HIER - F - W R (k] siEdE - F - wH RE [uﬁf»f{ﬂé&@]
AiEE -6 - AR [BAEIRH %] miEE - G - AR [%?Eﬁiaa]
AiEZ - H - {FiE  FRIK (B ee) giE® - H - FrE BBk [FhE 2R
HEM % 22(21) A H— BRI 9:40 HEFS %% 22(21) A A — b IR 11:05
K i EE V7 k K5 <HY EE 27 s
A= T4 =mv KR 0°C / 1C AR—FST 4=y 2K 0°C / 2C
N e ) F=880
EAT Ap=} -b B 1A/ 2#&H & #H V—XA
No No K4 BER B B 4 T S 1 i
1 34 B ¥ Bt MN=at 5o 6 36.55  37.22 1:13.77 0.00
2 35 £W OBE Nt =i 6 3815 3914 11729 4199
3 36 HigE Z= BN 6 4827 4889 1:37.16 279.02
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0 }7@ ’% ( %
iR A& 1§
02-02-2014 / G8/ 1

DATA PROCESSING by SET KO

TIMING by SETI KO
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e No P RIER B 4 S R R S
1 37 e HeE ot N2 5 38.75 38.94 1:17.69 0.00
2 38 g ek at: PINESY 0 5 39.11 39.88 1:18.99  14.73
3 39 i W W N 5 57.93 1:00.87 1:58.80 465.66
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [Ist RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0 - %
HiE  EE % 6@{ ;( VI
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TIMING by SET KO
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No No K4 BIER BT B 4 Pr R OBE R OB M AAVF
1 41 FiEE BB BT /NER 6 40.59 4027 1:20.86 0.00
2 40 RFE CH BACIR/NERE 6 4154 4141 12295 2275
3 42 /NEERR A ey IAN=== 6 56.03 5524 1:51.27 330.95
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED (2nd RUN] 0
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